A0 24 K IR AR A RS S (1~3 ) BB 1 ARDEM B2 A REM  FBE: 3 A WIEE
KBS B _ Kt it it AAKH KL P [ ARAKSE K [ROBEB E BORS 2 fi [ R S T IRBORIN 0 A< oA | BT A
& |HH Sy ¥ | BT [REEERE | OKIED OKIE) Z(SEE/JO . . éﬁéﬁ/wfﬁ) é%ﬁ/wfﬁ) é%ﬁ/wfﬁ) é%ﬁ/wfﬁ) é%ﬁ/k@)
FE1 | B J{f & %[ 1mlsF 10024 T - - éig 8 8 8 8 8 8 8
m E = K3 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AN o g snanzy- - 2.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- - 2.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
— - = = 0.0003 7% _[0.0003T% _[0.0003 K1 |- = - - R
K3 |IRIT LK EFDLE Y mg/1[0.003LL T - - - - - 0.00037%  [0.00037#  [0.000373 [0.000373  [0.00031
E = E = 000006501 |- = = = =
F4 KR K O Db mg/1]0.000524 T - - - 9.000057’6'@% - - - - - -
- - = = 0.00LA&7m  |0.00LAm  [0-00LAKwm |- N N R -
K5 | BL R OEDILEY s mg/1{0.01L4 F - - - - - 0.001K7  [o.001k5  [o.001k  [o.001k  [0.001k
N & = = 0.001Am _ [0-001 4K  [0-00Km |- - - - -
6 [$p DAY mg/1{0.01LL T - - ggg}ﬂ;ﬁ 888%?@ - 0.001A  [0.00144#  |0.001A44  [0.0014  [0.001 A
— . . IS { A < {jt] _ _ _ — — —
- - E - 0.001 B e - - - -
7 [eBROZDOILEY mg/1]0.01LLF - - - - - 0.0014  [0.001Ki%  o.001  [o.0014  [0.001 A
- = = 0.002Km _ [0-002Kwm _ [0-002KTm |- - - - -
I8 (A flize b e mg/1[0.02LLF - - - - - 0.002K7%  [0.002K%  [0.0024K%  [0.0024K%  [0.0024K7
E - E - 0,000k |- - - - -
JLO | Ry EEREEE R mg/1[0.04L4 F - - - 0.00445% |- - - - - -
. . . pns - - - - - 0.001A7m  |0.00ATm  |0.001A%m  |0.001 4w |0.001Aqwg
10> T A AA L IO LT *& mg/1{0.01LLF - - - - - - - - - -
- - " E = E = BRI = = = = =
FE11| AR AR R K OV A R RE 3R Z mg/1{10LAF - - - LA - - - - - -
= = = = 0.05km |- - - - -
12| 7R K OZEDILEY mg/1{0.8L4 F - - - 0.0840 |- - - - - -
E - E = 0. R - - - - -
H13[HRUHE KL NZEDEY % mg/1|1.0LLF - - - 0. 140 . - - - - -
N B - 0.0002AKT% [0.0002A [0.0002KTm |- - - - -
F14| AR SR mg/1)0.002L4F |- - - - - 0.0002:4#  [0.00024i#%  0.000255#  0.00024%  0.0002547%
- E - E = 0.00641m |- - - - -
H15|1, 4— D me/lo.oseiF | - - ook |- | - - - -
- E = 0.004K7m  [0-004KTm  [0.004KTm |- - - - -

16l =, o) —1, 2¥/mnxFLv 75 mg/1]0.04L4L - - - - ! - 0.004A5#  10.004401  [0.0045K4#  |0.004A4w  [0.0047i
- N i - - B 0.0027  |0.002 A [0.002KWm |- | R R I l
H17|\vrmury 1t mg/1]0.02LLF - - - - - 0.0024%  [0.002A%  [0.0025  [0.0025K1  0.0025K 1
— 2 = - 0.00TAw  |0.00Km  [0.001AKwm |- - - - -

187 v ranFL gy |me/1)0.0184TF - - - - - 0.001A4%#  0.0014#  |0.00145  [0.001545  [0.0014
- 7 - = E 0.00KW |0.001Km  [0.000Km |- R R R R )
H19|N)anxFL v mg/1]0.01LLF - - - - - 0.00144  [0.0014K4#  0.0014  [0.0014d  [0.001 A
— E E 0.001m  [0-001  [0.00140m |- - - - -
Hoo|l~_L Py mg/1]0.01LLF - - - - - 0.001A4%#  0.0014#  |0.00145  [0.001545  [0.0014

- - E = E = E 0.06K7  |0.06T  [0.067m  |0-064#%  [0.0677m
o1 | iR mg/1{0.6L1 F - - - - - - - - - -
o - E = E = E 0.002m  |0-002k1%  |0-002k7  |0.00250  [0.002HK1m
22|/ mafEE mg/1]0.02LL F - - - - - - - - - -
- E = E 0.012 0.006KTm |- = = = =
Bi2R] Pa=ini iV VN mg/1]0.06 24 F - - - - - 0.0064  10.011 0.006A44  10.0064  [0.00641
N o - E = E = E 0.003%  |0-003k1%  |0.003k7  |0.003  [0.003K1m
24|y anafilg mg/1]0.03LL F - - - - - - - - - -
- e = = = 0.00Km  [0.0Rm |- - - - N
JLoslrTmEsaa iy (E mg/10.1LLF - - - - - 001 0.01AH 0.01AH 0.01AH 0.01 At
= _ _ _ _ _ e e e s o
- i E = E = E 0.001m  |0-00k1%  |0.00 kW  |0.00 ki [0.00 K
26| R W menfoorr | - - - - : : : : E
; E = E 0.02 0.01 E E E E =
H2TIRR N A ZZ mg/10.1LLF - - - - - 0.01 0.02 0.01 0.01 0.01
o - E = E = E 0.003%  |0-0031%  |0-003k7  |0.0030  [0.003K1m
28| Ny fkg mg/1]0.03LL F - - - - - - - - - -
= = = 0.001 0.003 KM |- R R R R
Hoo|7ueyrunrz mg/1]0.03L4 F - - - - - 0.003 0.005 0.003 0.004 0.00341i5
N E = E 0.000km  |0.000KTm |- = = = =
H30| 7 mEARL L mg/1]0.09LL - - - - - 0.0094%#  0.0094#  |0.0097c  [0.0095%  [0.0095i
. - E E E E E 0,004 |0-0087% _ |0.0080T  |0.008w _ [0.008Am
31BN LT ATER mg/1]0.08L4 - - - - - - - - - -
- - - [ E ST [N E ST/ (VF S/ R - - - -
32| High Kk DAY mg/1|1.08LF - - E - E 0. 140 RS RS RS RS
E E 0.08 0.03 0021 |- = = = =
33T A= LR EDALE W % mg/1[0.200 F - - 8%2 885 - 0.02A45 0.02A4i 0.02A4i 0.02A4i 0.024
- R - - 0-07 INOEE S (O0%E S S N R N N SR
34| K NEDILEY mg/1[0.30LF - - 813 88&/% - 0,034 0.034%5 003445 0.034%5 00344
- - N o3k |- - - - - -
= N N R - - 0. LA 0. 9'122'4#7 P P PR PRS- 0 155
FL35|81 e O DALE mg/1|1.0LLF 8%;@ gam,%. 0. 144 0.1 0.1 0.1 0. 144
- - LA LA - - - - - -
E = 4.1 16.6 5.8 E E E E E
336 NI AR NEDLAE Y iﬁ mg/1|200L4 T - - - - - 14.6 13.2 14.8 14.7 14.9
- X - E E 0.005%1% _ |0.0051  [0.005RT% |- = = = R
W37~ B R OZFEDLAEWY 4, lmg/1[0.05LLF - - 8828 ggga?r%ﬁ - 0.0055K7  [0.0055k5  [0.0055k5  [0.0055K5  [0.00554K
_ _ o8 0skiE |- s s s s s
E = 6.1 8.9 2.8 7.2 4.7 16.5 5.9 5.2
H38| Mk A4 mg/1|200L4F - - 2.0 ;.8 17.2 15.8 902 15.9 156 122
- - 4.1 5 17. 15.4 10.6 16.6 16.4 15.2
E E 83 65 18 E E E E E
39BN A T R N () g mg/1|300LL T - - 60 49 - 55 50 59 58 51
- - 60 57 - - - - - -
E = 14 120 91 E E E E =
FA0| 785 W mg/1|500LL F - - 73 73 - 69 67 69 85 68
- - 93 81 - - - - - -




- E = E = [PESE N - - = =
AT| A A SR X lmeorr | - - ookt |- - - - - -
o) _ _ _ b _ _ _ _ _ _
Haolv A3 7 [mg/1]o.0000181F |- - - - - - - - - -
[0 — — — — — — — — — —
35432 —AF LAVRVFA—V B |mg/1{0.00001LLF |- - - - - - - - - -
. 7 E = E = 0.002km |- = = = =
Heaa| I A A FimiE Al ¥ mg/1]0.02LL F - - - 0.0024 |- - - - - -
E = E = 0.0006517h |- - - = =
3457 = ) — ?\ mg/1[0.0054F |- - - 0.0005%3% |- s - - - -
C = = E = E 08 08 08 0.7 0.7
JLa6| i (2R FE (TOC) D &) ;:k mg/1{324F - - - - - 0.8 0.9 0.8 0.8 0.8
- - - - - 0.7 1.0 0.7 0.6 0.7
- - E = 770% 7. 25% T.07% 7.08 7.15 7.20 7.2 717
J47(pHAE 5.8~8.6 - - 7.31% 7.23% 7.12% 7.40 7.50 7.55 7.60 7.40
- - 7.53% 7.30% 7.23% 7.60 7.31 7.30 7.61 7.25
f - - - L ZAEE LS FAE LA AR AR AR ERRL
48|k . BTN - - aals  |RERLe  |HERL Sl Sl Sl Sl
P - - - S TRLx HEIRL* HERL SERL SERL SERL SERL
- /: T . NG - ERE L PR L A E A LY-EA T 7L T 7L T 7eL
HA9|RR P HH TR Y- - - 5Lk Hsele  [BEALe | EERL [ [ [ el
- - L Wl WLy WAL SRl SRl Sl Sl
N EIN = |t = = '1'163 8%&:% 0.51@* 0.51@ 05400 05400 O,S*ﬁ 05400
5 - - 0% Sk [05oRjE [0.54% 0.5 0. 0.5k 0.5
- = - - 14.5% 0.5% 0.55% 0.5 0.5 0. 0.5 0.5
— |- - - 6.3% 0.2 7% 0.2k 0.2 0.2 0.2 0.2 A7 0.2
H51| W BE 2L F - - 6.9% 0.2 |02 [0.240 0.2 0. 0.2 0.2
- - 10.1% 0.2 |o.odqix [0 2 0.2 0. 0.2 0.24]

3T [T fiE



A N4 R E R B RS R T H A R (1~3 A) BB 1 ARDEM B2 A REM  FBE: 3 A WIEE
AP PR AT R E T Kt it it AAKH PRI T [ ARARSE K [ROSEB E ORS 2 fi [ R S T IRBORIN 0 A< S oA | TSR A
& |HH A EREA T OKIE) OKJ5) (k) Mokke) | GEkee)  [Gakee) | Gekde) | Gikie)
H1|7vFE=ROBEDILED mg/1{0.02L4 F - - - - - - - - - -
A2 (Y7 ROZOay mg/1]0.0028 F (85| - - - - . - i : i B
H3 |[=v 7V B OZEDLEY mg/1]0.028L F - - - - - - - - - -
H4 [HIER
R = = 0.0004°K7# 0.0004AKm  [0.0004Km |- N N N -
H5 |1, 2—Y/muxfy mg/1]0.004LL - - - - - 0.000444#  [0.000474#  [0.000474#  [0.00044#  [0.0004 A4
H6 [HIER
H7 [HIBR
= = [ZE S (VS (N E S - - - -
H8 |hMr=y mg/1)0.4LLF - - - - - 0.04A4i# 0.04A4i 0.04A4i 0.04A4i 0.04A7i5
A9 | 720 (2—=FL~FiL) mg/lfo.osF |- - - - - - - - - -
F 10| i 2w mg/1/0.6L4F AL TRV AR
H11[HIBR
Hi12| =ik mg/1{0.6L4F AL TRV BRAEE IS
H13|>smarer=rin me/1[0.0181 F |- - - - - - - - - -
H 14| fakras—n me/1|0.0204 T e ) - - - - - - - - -
B 15[ =408 et 100 F - - - - - - - - - -
E = E 0.9% 0.6% 0.5 0.5 0.5 0.4 0.6
H16|7&HiEH mg/I|1LLF - - - 0.8% 0.6% 0.6 0.6 0.6 0.4 0.6
- - - 0.8% 0.6% 0.6 0.6 0.6 0.4 0.6
— E = 83 65 18 E = = = =
ERNY VAN Sy FN- (73 mg/1{10~100 - - 60 49 - 55 50 59 58 51
- - 60 57 - - - - - -
- - E = 0.004 0.001 0.003 S = = = =
H18[~> o B OEDILA mg/1[0.01LLF - - 0.060 0.0014 |- 0.002 0.001 0.002 0.002 0.002
- - 0.050 0.0014KH |- - - - - -
o ] = - T8 2.6 76 E = = = —
H 19|zt e g mg/1|2084 F - - - - - 3.5 3.5 3.5 3.5 3.5
= E 0.03K% 0.034Tm __ [0-030m |- - - - -
H20[|1, 1, 1—RN)I/manxz mg/1]0.3LLF - - - - - 0.03 A 0.03Ai5 0.03Ai5 0.03Ai5 0.03Ai5
H21[AF NV —t—TF FLT—F /L (MTE mg/1{0.02LLF - - - - - - - - - -
R - - E = 7.9 2.8 0.9 = = = = =
H 22|~ T g L i mg/1|3LLF - - 5.4 1.9 - 2.2 1.9 1.9 1.3 1.3
- - 6.0 2.5 - - - - - -
E = 3 1 T E E E E =
H 23| B4R EE (TON) 3LLF - - - - - 1 1 1 1 1
E = 14 20 91 = = = = =
H 24|78 5724 mg/1[30~200 - - 73 73 - 69 67 69 85 68
- - 93 81 - - - - - -
- - = = 6.3+ 0.LRTw* |0 Lmx [0 L0 0. R 0. R (WS 0.THRm |
H25(W I DY - - 6.9% 0. 1Ai* 0. 1A 0.1 0.1 0.1 0.1 (BEST}
- - 10.1% 0. Ui 0. UK+ [0, kil 0. LR 0. UK 0. UK 0. LA
E = T.79% 7.25% T.00% 7.08 7.15 7.20 7.25 717
H 26|pHfHE 7.5F - - 7.31% 7.23% 7.12% 7.40 7.50 7.55 7.60 7.40
- - 7.53% 7.30% 7.23% 7.60 7.31 7.30 7.61 7.25
E = =0.3 =10 T4 E E E E =
H27|Eat (77 5 -1~0 - - - - - 0.9 0.9 0.8 0.8 1.0
JN P e[ 1mirpi200021 [ - 9% 0 0 R - - B -
F 28|1E & S 2% A B ) - - - - - 0 0 0 1 0
N - = = 0.0 1R 0.01 K1 0.0 KT - - - - =
H29(1, 1—Y /s mg/1{0.1LLF - - - - - 0.0 0.01A 0.01A 0.01AH 0.01 A5
- E = 0.08 0.03 0.01 E E E E E
H30[7 AV I=m AR OED(LA mg/1]0. 184 F - - 0.36 0.02 - 0.01543i 0.01 0.01 0.01 0014
- - 0.45 0.02 - - - - - -
A31 NI AR ) B ANVES R (PROS) mg/1[0:000058LF | - - - - - - - - -
B OWVTVAaA 8 g (PROA) S| () . . . . . . . . . ,
w13 H FPEAIfE
ZOfhIH Kt i Bt FAH VKM O [k | Rt a ] Gsep ] B ekl /<o A | BZans A
HH BT OkiR) Ok ) (k) Akke) | GEakaR) [ Giake) | Gekde) | Giekie)
E = 7.5% ERE 9.0% 7.2 6.6 10.1 12.8 8.3
KR T - - 8.8% 9.4% 10.3% 15.0 16.0 14.5 16.0 15.0
- - 11.2% 11.6% 12.5% 9.6 12.8 13.1 13.5 1.8
E E 15.0% 12.3% 36.0 E E E E E
W7V EE mg/1 - - 39.8% 36.8% - 40.0 38.0 40.0 39.0 40.0
- - 39.6% 36.4% - - - - - -
- E = 2.0 3.0 3.0 E E E E E
KAWAIE mg/1 - - 2.0 1.0 - 4.0 4.0 1.0 1.0 4.0
- - 3.0 3.0 - - - - - -
. - - BT |- - - - - - -
JYTPARY T L (10LH7) - - - - - - - - - -

A R AE



